Bid Committee Bid Tab

City Clerk

Bid MB-1649 Ended At Oct 16, 2024 10:00:00 AM CDT CONSTRUCTION/CITY - Driving Facility at the Public Safety Training Facility

Company:	Silver Star Construction Compan	wynn Construction Co., Inc	Downey Contracting, L.L.C.
Base Bid	\$4,467,900.00	\$6,126,000.00	\$5,877,000.00
ADD ALT 1	\$244,750.00	\$302,000.00	\$363,000.00
ADD ALT 2	\$173,725.00	\$230,000.00	\$275,000.00
ADD ALT 3	\$689,765.00	\$963,000.00	\$1,094,000.00
Add ALT 4	\$1,163,000.00	\$1,406,000.00	\$1,587,000.00
TOTAL BID:	\$6,739,140.00	\$9,027,000.00	\$9,196,000.00

Company:	Rudy Construction Co.	
Base Bid	\$7,045,000.00	
ADD ALT 1	\$295,000.00	
ADD ALT 2	\$215,000.00	
ADD ALT 3	\$935,000.00	
Add ALT 4	\$1,250,000.00	
TOTAL BID:	\$9,740,000.00	

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #MB-1649 - Driving Facility at the Public Safety Training Facility

Start Date Aug 28, 2024 8:10:35 AM CDT Awarded Date Not Yet Awarded

MB-164901-01 Base Bid: Base bid					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	First Offer - \$4,467,900.00	1 / lump sum	\$4,467,900.00	Υ	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Downey Contracting, L.L.C.	First Offer - \$5,877,000.00	1 / lump sum	\$5,877,000.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Wynn Construction Co., Inc	First Offer - \$6,126,000.00	1 / lump sum	\$6,126,000.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Rudy Construction Co.	First Offer - \$7,045,000.00	1 / lump sum	\$7,045,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

MB-164902-01 ADD ALT 1: ADD ALT 1					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company	First Offer - \$244,750.00	1 / lump sum	\$244,750.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$295,000.00	1 / lump sum	\$295,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$302,000.00	1 / lump sum	\$302,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$363,000.00	1 / lump sum	\$363,000.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

MB-164903-01 ADD ALT 2: ADD ALT 2					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company	First Offer - \$173,725.00	1 / lump sum	\$173,725.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$215,000.00	1 / lump sum	\$215,000.00		Y
Product Code:	•	Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$230,000.00	1 / lump sum	\$230,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$275,000.00	1 / lump sum	\$275,000.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

MB-164904-01 ADD ALT 3: ADD ALT 3					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	First Offer - \$689,765.00	1 / lump sum	\$689,765.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$935,000.00	1 / lump sum	\$935,000.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$963,000.00	1 / lump sum	\$963,000.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$1,094,000.00	1 / lump sum	\$1,094,000.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

MB-164905-01 Add ALT 4: ADD ALT 4					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company	First Offer - \$1,163,000.00	1 / lump sum	\$1,163,000.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$1,250,000.00	1 / lump sum	\$1,250,000.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$1,406,000.00	1 / lump sum	\$1,406,000.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$1,587,000.00	1 / lump sum	\$1,587,000.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

Supplier Totals

f Silver Star C	onstruction Company	\$6,739,140.00 (5/5 items)	
Bid Contact	Amber Harris tim@silverstarconst.com Ph 405-793-1725	Address 2401 S Broadway Moore, OK 73160	
Qualifications	CS ARCH ENG OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	[status: Authorized on Sep 4, 2024)		
Bid Notes	BID BOND ALSO ATTACHED UNDER BASE BID		
Agency Notes:		Supplier Notes: BID BOND ALSO ATTACHED UNDER BASE BID	Head Attch:
f Wynn Const	ruction Co., Inc	\$9,027,000.00 (5/5 items)	
Bid Contact	Rick Thompson bid@wynnconstruction.com Ph 405-753-1120	Address 11901 North Eastern Ave. Oklahoma City, OK 73131	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch:
f Downey Cor	ntracting, L.L.C.	\$9,196,000.00 (5/5 items)	

Address 3217 NE 63rd Street Bid Contact Sheila Stovall dzimbelman@downeycontracting.com Oklahoma City, OK 73121 Ph 405-478-5277 Qualifications OKC PRE-QUALIFIED CONTRACTORS **Head Attch: Agency Notes: Supplier Notes:** f Rudy Construction Co. \$9,740,000.00 (5/5 items) **Bid Contact Doug Walker** Address 3101 NE 63rd Street kratliff@rudycc.com Oklahoma City, OK 73121 Ph 405-478-9900 Fax 405-478-9901 Qualifications OKC PRE-QUALIFIED CONTRACTORS Bid Bond (Status: Authorized on Oct 14, 2024) **Agency Notes: Supplier Notes: Head Attch:**

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid Committee Bid Tab

City Clerk

Bid OCWUT SC-1115 Ended At Oct 16, 2024 10:00:00 AM CDT CONSTRUCTION/OCWUT - Sanitary Sewer Rehabilitation

Company:	Urban Contractors	Jordan Contractors, LLC	Krapff Reynolds Construction Company
Base Bid	\$745,745.00	\$974,240.00	\$1,535,036.00
TOTAL BID:	\$745,745.00	\$974,240.00	\$1,535,036.00

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCWUT SC-1115 - Sanitary Sewer Rehabilitation

Creation Date Sep 9, 2024 End Date Oct 16, 2024 10:00:00 AM CDT

Start Date Sep 25, 2024 8:52:49 AM CDT Awarded Date Not Yet Awarded

OCWUT SC-111501-01 Base Bid: COLOR AUDIO/VIDEO RECORDING, PRE & POST CONSTRUCTION (RECORDED DIGITALLY ON DVD)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Jordan Contractors, LLC	First Offer - \$1,000.00	1 / lump sum	\$1,000.00		Y	
Product Code: SC-1115 Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Urban Contractors	First Offer - \$3,195.00	1 / lump sum	\$3,195.00		Y	
Product Code: SC-1115 Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Krapff Reynolds Construction Company	First Offer - \$5,000.00	1 / lump sum	\$5,000.00	Υ	Y	
Product Code: SC-1115 Agency Notes:		Supplier Product Co Supplier Notes: Bid		bid item.		

OCWUT SC-111501-02 Base Bid: SEWER SERVICE CONNECTION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Urban Contractors	First Offer - \$270.00	110 / each	\$29,700.00		Y			
Product Code: SC-1115		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Krapff Reynolds Construction Company	First Offer - \$750.00	110 / each	\$82,500.00		Y			
Product Code: SC-1115		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Jordan Contractors, LLC	First Offer - \$1,000.00	110 / each	\$110,000.00		Υ			
Product Code: SC-1115		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

OCWUT SC-111501-03 Base Bid: SEWER SERVICE LIN	IE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jordan Contractors, LLC	First Offer - \$5.00	1550 / linear foot	\$7,750.00		Y
Product Code: SC-1115		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Urban Contractors	First Offer - \$5.00	1550 / linear foot	\$7,750.00		Y
Product Code: SC-1115		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$15.00	1550 / linear foot	\$23,250.00		Y
Product Code: SC-1115		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

OCWUT SC-111501-04 Base Bid: POINT REPAIR					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Urban Contractors	First Offer - \$350.00	1 / each	\$350.00		Υ
Product Code: SC-1115		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Jordan Contractors, LLC	First Offer - \$7,500.00	1 / each	\$7,500.00		Υ
Product Code: SC-1115		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$25,000.00	1 / each	\$25,000.00		Υ
Product Code: SC-1115		Supplier Product Co	ode:		

Agency Notes: Supplier Notes:

OCWUT SC-111501-05 Base Bid: DEFLECTION TEST (<24IN)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Urban Contractors	First Offer - \$50.00	1 / lump sum	\$50.00		Υ				
Product Code: SC-1115		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Krapff Reynolds Construction Company	First Offer - \$100.00	1 / lump sum	\$100.00		Υ				
Product Code: SC-1115		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Jordan Contractors, LLC	First Offer - \$250.00	1 / lump sum	\$250.00		Υ				
Product Code: SC-1115		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

OCWUT SC-111501-06 Base Bid: PRE-CONSTRUCTION TELEVISION INSPECTION (CCTV)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Krapff Reynolds Construction Company	First Offer - \$5.00	3958 / linear foot	\$19,790.00		Υ				
Product Code: SC-1115		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Urban Contractors	First Offer - \$5.00	3958 / linear foot	\$19,790.00		Υ				
Product Code: SC-1115		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Jordan Contractors, LLC	First Offer - \$20.00	3958 / linear foot	\$79,160.00		Υ				
Product Code: SC-1115		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT SC-111501-07 Base Bid: POST-CONSTRUCTION TELEVISION INSPECTION (CCTV)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Krapff Reynolds Construction Company	First Offer - \$2.00	3958 / linear foot	\$7,916.00		Y				
Product Code: SC-1115		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Urban Contractors	First Offer - \$3.00	3958 / linear foot	\$11,874.00		Y				
Product Code: SC-1115		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Jordan Contractors, LLC	First Offer - \$10.00	3958 / linear foot	\$39,580.00		Y				
Product Code: SC-1115		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT SC-111501-08 Base Bid: SEWER LEAK TEST (<24IN)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Urban Contractors	First Offer - \$50.00	1 / lump sum	\$50.00		Υ			
Product Code: SC-1115		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Krapff Reynolds Construction Company	First Offer - \$100.00	1 / lump sum	\$100.00		Υ			
Product Code: SC-1115		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Jordan Contractors, LLC	First Offer - \$250.00	1 / lump sum	\$250.00		Y			
Product Code: SC-1115		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

OCWUT SC-111501-09 Base Bid: (4 FT) SANITARY SEWER MANHOLE (0-6 FT)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Urban Contractors	First Offer - \$4,700.00	2 / each	\$9,400.00		Y		
Product Code: SC-1115		Supplier Product Co	ode:				

Agency Notes:		Supplier Notes:		
Jordan Contractors, LLC	First Offer - \$7,500.00	2 / each	\$15,000.00	Y
Product Code: SC-1115		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Krapff Reynolds Construction Company	First Offer - \$8,000.00	2 / each	\$16,000.00	Υ
Product Code: SC-1115		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

OCWUT SC-111501-10 Base Bid: EXTRA DEPTH MANHOLE WALL (4 FT)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Jordan Contractors, LLC	First Offer - \$300.00	15 / vertical foot	\$4,500.00		Υ				
Product Code: SC-1115		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
Krapff Reynolds Construction Company	First Offer - \$300.00	15 / vertical foot	\$4,500.00		Υ				
Product Code: SC-1115		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
Urban Contractors	First Offer - \$500.00	15 / vertical foot	\$7,500.00		Υ				
Product Code: SC-1115		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

OCWUT SC-111501-11 Base Bid: MANHOLE TESTING (<24IN)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Urban Contractors	First Offer - \$50.00	1 / lump sum	\$50.00		Y				
Product Code: SC-1115		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Jordan Contractors, LLC	First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Y				
Product Code: SC-1115		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Krapff Reynolds Construction Company	First Offer - \$6,500.00	1 / lump sum	\$6,500.00		Y				
Product Code: SC-1115		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

OCWUT SC-111501-12 Base Bid: SANITARY SEWER MANHOLE REHABILITATION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Urban Contractors	First Offer - \$150.00	119 / vertical foot	\$17,850.00		Υ			
Product Code: SC-1115		Supplier Product Code						
Agency Notes:		Supplier Notes:						
Jordan Contractors, LLC	First Offer - \$200.00	119 / vertical foot	\$23,800.00		Y			
Product Code: SC-1115		Supplier Product Code	•					
Agency Notes:		Supplier Notes:						
Krapff Reynolds Construction Company	First Offer - \$250.00	119 / vertical foot	\$29,750.00		Υ			
Product Code: SC-1115		Supplier Product Code						
Agency Notes:		Supplier Notes:						

OCWUT SC-111501-13 Base Bid: TRENCHLESS CONSTRUCTION (8 INCH)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Urban Contractors	First Offer - \$142.00	3958 / linear foot	\$562,036.00		Y
Product Code: SC-1115 Supplier Product Code: SC-1115			:		
Agency Notes:		Supplier Notes:			
Jordan Contractors, LLC	First Offer - \$150.00	3958 / linear foot	\$593,700.00		Y
Product Code: SC-1115		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$285.00	3958 / linear foot	\$1,128,030.00		Y
Product Code: SC-1115		Supplier Product Code	:		

Agency Notes: Supplier Notes:

OCWUT SC-111501-14 Base Bid: GPS "AS-BUILT" SURVEY					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jordan Contractors, LLC	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Y
Product Code: SC-1115	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Urban Contractors	First Offer - \$7,000.00	1 / lump sum	\$7,000.00		Y
Product Code: SC-1115		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$8,000.00	1 / lump sum	\$8,000.00		Y
Product Code: SC-1115		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

OCWUT SC-111501-15 Base Bid: MOBILIZATION					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jordan Contractors, LLC	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Υ
Product Code: SC-1115 Supplier Produ			ode:		
Agency Notes:		Supplier Notes:			
Urban Contractors	First Offer - \$30,000.00	1 / lump sum	\$30,000.00		Υ
Product Code: SC-1115		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$76,200.00	1 / lump sum	\$76,200.00		Υ
Product Code: SC-1115		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

OCWUT SC-111501-16 Base Bid: CLEARING AND GRUBBING					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Urban Contractors	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Y
Product Code: SC-1115	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Jordan Contractors, LLC	First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Y
Product Code: SC-1115		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$76,200.00	1 / lump sum	\$76,200.00		Υ
Product Code: SC-1115	Supplier Product Code:				
Agency Notes:		Supplier Notes:			

OCWUT SC-111501-17 Base Bid: SOLID SLAB SODDING					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jordan Contractors, LLC	First Offer - \$5.00	500 / square yard	\$2,500.00		Υ
Product Code: SC-1115	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Urban Contractors	First Offer - \$5.00	500 / square yard	\$2,500.00		Υ
Product Code: SC-1115		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$10.00	500 / square yard	\$5,000.00		Υ
Product Code: SC-1115		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

OCWUT SC-111501-18 Base Bid: EXTRA DEPTH MANHOLE WALL (6 FT)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Krapff Reynolds Construction Company	First Offer - \$400.00	3 / vertical foot	\$1,200.00		Υ
Product Code: SC-1115 Supplier Product Code:					

Agency Notes:		Supplier Notes:		
Jordan Contractors, LLC	First Offer - \$500.00	3 / vertical foot	\$1,500.00	Y
Product Code: SC-1115		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		
Urban Contractors	First Offer - \$800.00	3 / vertical foot	\$2,400.00	Υ
Product Code: SC-1115		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		

OCWUT SC-111501-19 Base Bid: (6 FT) SANITARY SEWER MANHOLE (0-6 FT)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Urban Contractors	First Offer - \$5,500.00	1 / each	\$5,500.00		Υ
Product Code: SC-1115 Supplier Product Code:					
Agency Notes:		Supplier Notes:			
Jordan Contractors, LLC	First Offer - \$10,000.00	1 / each	\$10,000.00		Υ
Product Code: SC-1115		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$10,000.00	1 / each	\$10,000.00		Υ
Product Code: SC-1115		Supplier Product Code:			
Agency Notes:	Supplier Notes:				

OCWUT SC-111501-20 Base Bid: REMOVE AND REPLACE ALLEY PAVING (CONCRETE)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Urban Contractors	First Offer - \$150.00	25 / square yard	\$3,750.00	Y	Υ	
Product Code: SC-1115 Supplier Produ			:			
Agency Notes:	Supplier Notes: Bid bond is attached here.					
Jordan Contractors, LLC	First Offer - \$250.00	25 / square yard	\$6,250.00	Y	Y	
Product Code: SC-1115		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Krapff Reynolds Construction Company	First Offer - \$400.00	25 / square yard	\$10,000.00		Υ	
Product Code: SC-1115		Supplier Product Code	:			
Agency Notes:		Supplier Notes:				

Supplier Totals

f Urban Conti	actors	\$745,745.00 (20/20 items)	
Bid Contact	Amy Hampton urbancontr@aol.com Ph 405-478-5370 Fax 405-478-5618	Address 7113 N. Bryant Ave Oklahoma City, OK 73121	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch:
f Jordan Cont	ractors, LLC	\$974,240.00 (20/20 items)	
Bid Contact	John Jordan john@jordancontractors.us Ph 405-598-2169 Fax 405-598-2160	Address 123 S Broadway Tecumseh, OK 74873	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	lead Attch:
f Krapff Reyn	olds Construction Company	\$1,535,036.00 (20/20 items)	

10/16/2024

p. 5

bid #OCWUT SC-1115 -Sanitary Sewer

City of Oklahoma City and its Trusts

Bid Contact Jim King Address 2400 N.E. 4th st

fred@krapff-reynolds.com Oklahoma City, OK 73117

Ph 405-733-9682 Fax 405-516-0081

Qualifications **OKC PRE-QUALIFIED CONTRACTORS**

Agency Notes: Supplier Notes: Head Attch:



**All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

City Clerk

Bid Committee Bid Tab

Bid TC-0506, WC-1020-1 Ended At Oct 16, 2024 10:00:00 AM CDT CONSTRUCTION/CITY - Intersection Improvements and Watermain Replacements

Company:	Rudy Construction Co.	
BASE BID TC-0506	\$3,885,592.85	
ALTERNATE 1 TC-0506	\$362,856.00	
ALTERNATE 2 TC-0506	(\$81,200.00)	
BASE BID WC-1020	\$1,208,368.00	
ALTERNATE 1 WC-1020	\$233,650.00	
ALTERNATE 2 WC-1020	\$263,820.00	
TOTAL BID:	\$5,873,086.85	

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #TC-0506, WC-1020-1 - Intersection Improvements and Watermain Replacements

Start Date Sep 11, 2024 7:39:26 AM CDT Awarded Date Not Yet Awarded

TC-0506, WC-1020-101-01 BASE BID TC-0506: EROSION CONTROL BARRIER							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$5.00	4000 / linear foot	\$20,000.00		Y		
Product Code: TC-0506		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-101-02 BASE BID TC-0506: BORROW							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$110.00	1668 / cubic yard	\$183,480.00		Y		
Product Code: TC-0506		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-101-03 BASE BID TC-0506: PROOF ROLLING							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$1.00	6565 / square yard	\$6,565.00		Υ		
Product Code: TC-0506		Supplier Product Code:					
		Supplier Notes:					

TC-0506, WC-1020-101-04 BASE BID TC-0506: LIME STABILIZED SUBGRADE (8 INCHES)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$30.00	5550 / square yard	\$166,500.00		Y		
Product Code: TC-0506		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-101-05 BASE BID TC-0506: AGGREGATE BASE (TYPE A)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$110.00	284 / cubic yard	\$31,240.00		Υ	
Product Code: TC-0506		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

TC-0506, WC-1020-101-06 BASE BID TC-0506: CURB AND GUTTER (2 FT-8 IN) (6 IN BARRIER)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$55.00	7380 / linear foot	\$405,900.00		Y		
Product Code: TC-0506		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-101-07 BASE BID TC-0506: TACK COAT							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$8.00	1290 / gallon	\$10,320.00		Y		
Product Code: TC-0506		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-101-08 BASE BID TC-0506: SUPERPAVE, TYPE S5 (PG 76-28)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$185.00	954 / tons	\$176,490.00		Υ		
	·						

Product Code: TC-0506	Supplier Product Code:
Agency Notes:	Supplier Notes:

TC-0506, WC-1020-101-09 BASE BID TC-0506: SUPERPAVE, TYPE S3 (PG 76-28 OK)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$140.00	1565 / tons	\$219,100.00		Y		
Product Code: TC-0506		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-101-10 BASE BID TC-0506: SUPERPAVE, TYPE S3 (PG 64-22 OK)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$170.00	793 / tons	\$134,810.00		Υ		
Product Code: TC-0506		Supplier Product Code	::				
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-101-11 BASE BID TC-0506: COLD MILLING PAVEMENT							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$6.00	4038 / square yard	\$24,228.00		Y		
Product Code: TC-0506		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-101-12 BASE BID TC-0506: CONCRETE UNIT PAVER - TYPE 4 (SPECIAL) (SP)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$35.00	4420 / square foot	\$154,700.00		Υ			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-13 BASE BID TC-0506: REINFORCED CONCRETE PIPE (18 INCHES)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$215.00	299 / linear foot	\$64,285.00		Y			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-14 BASE BID TC-0506: DESIGN 2-0 INLET COMPLETE IN PLACE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$7,000.00	6 / each	\$42,000.00		Υ			
Product Code: TC-0506		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-15 BASE BID TC-0506: DESIGN 2-2 INLET COMPLETE IN PLACE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$14,000.00	1 / each	\$14,000.00		Y			
Product Code: TC-0506		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-16 BASE BID TC-0506: DESIGN 7-2 INLET COMPLETE IN PLACE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$8,500.00	2 / each	\$17,000.00		Υ			
Product Code: TC-0506		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-17 BASE BID TC-050	6: MANHOLE (4 FT DIA)		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$5,500.00	4 / each	\$22,000.00		Υ
Product Code: TC-0506		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			

TC-0506, WC-1020-101-18 BASE BID TC-0506: ADJUST MANHOLE TO GRADE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$1,250.00	13 / each	\$16,250.00		Υ			
Product Code: TC-0506		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-19 BASE BID TC-0506: ADJUST EXISTING STRUCTURE (WATER METER)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$500.00	5 / each	\$2,500.00		Y			
Product Code: TC-0506		Supplier Product Code	: :					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-20 BASE BID TC-0506: REMOVE EXISTING SIGN									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$150.00	11 / each	\$1,650.00		Υ				
Product Code: TC-0506		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

TC-0506, WC-1020-101-21 BASE BID TC-0506: CONSTRUCTION STAKING (CONSTRUCTION SURVEY)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$35,000.00	1 / lump sum	\$35,000.00		Y			
Product Code: TC-0506		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-22 BASE BID TC-0506: CONSTRUCTION SIGNING AND TRAFFIC CONTROL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$240,000.00	1 / lump sum	\$240,000.00		Υ			
Product Code: TC-0506		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-23 BASE BID TC-0506: MOBILIZATION (SP)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$240,000.00	1 / lump sum	\$240,000.00		Y				
Product Code: TC-0506		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

TC-0506, WC-1020-101-24 BASE BID TC-0506: STRUCTURE REMOVAL (TRAFFIC SIGNAL)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$1,050.00	11 / each	\$11,550.00		Y			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-25 BASE BID TC-0506: STRUCTURE REMOVAL (INLET)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$1,500.00	7 / each	\$10,500.00		Υ			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-26 BASE BID TC-0506: REMOVE CURB AND GUTTER								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$25.00	7600 / linear foot	\$190,000.00		Υ			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-27 BASE BID TC-0506: ASPHALT PAVEMENT REMOVAL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$25.00	7400 / square yard	\$185,000.00		Υ			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-28 BASE BID TC-0506: REMOVE SIDEWALK (4 FT WIDE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$25.00	760 / square yard	\$19,000.00		Υ			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-29 BASE BID TC-0506: REMOVE DRIVEWAY								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$25.00	1160 / square yard	\$29,000.00		Υ			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-30 BASE BID TC-0506: SAWCUT PAVEMENT									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$10.00	3241 / linear foot	\$32,410.00		Υ				
Product Code: TC-0506		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

TC-0506, WC-1020-101-31 BASE BID TC-0506: 6 IN P.C. CONC. DRIVEWAY (HES)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$150.00	718 / square yard	\$107,700.00		Y			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-32 BASE BID TC-0506: SIDEWALK (6 FT)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$115.00	1404 / square yard	\$161,460.00		Υ			
Product Code: TC-0506 Agency Notes:		Supplier Product Code: Supplier Notes:						

TC-0506, WC-1020-101-33 BASE BID TC-0506: TACTILE MARKERS/TRUNCATED DOMES (SPECIAL) (SP)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$50.00	240 / square foot	\$12,000.00		Υ			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-34 BASE BID TC-0506: 2 INCH TRAFFIC SIGNAL CONDUIT (BORED)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$42.00	360 / linear foot	\$15,120.00		Υ		

Product Code: TC-0506Supplier Product Code:Agency Notes:Supplier Notes:

TC-0506, WC-1020-101-35 BASE BID TC-0506: 2 INCH TRAFFIC SIGNAL CONDUIT (TRENCHED)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$17.00	1500 / linear foot	\$25,500.00		Y				
Product Code: TC-0506	Supplier Product Code:								
Agency Notes:		Supplier Notes:							

TC-0506, WC-1020-101-36 BASE BID TC-0506: (1 CONDUCTOR)(AWG NO. 10) ELECTRICAL CONDUCTOR								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$1.70	1860 / linear foot	\$3,162.00		Υ			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-37 BASE BID TC-0506: 20-FOOT POLE COATED AS NOTED (SINGLS 20 - 40 FOOT ARM)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$27,500.00	2 / each	\$55,000.00		Υ			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-38 BASE BID TC-0506: 25-FOOT MAST ARM COATED AS NOTED								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$9,500.00	2 / each	\$19,000.00		Υ			
Product Code: TC-0506		Supplier Product Code	upplier Product Code:					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-39 BASE BID TC-0506: STRUCTURAL CONCRETE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$3,500.00	16 / cubic yard	\$56,000.00		Y			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-40 BASE BID TC-0506: REINFORCING STEEL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$2.85	1341 / pounds	\$3,821.85		Y				
Product Code: TC-0506		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

TC-0506, WC-1020-101-41 BASE BID TC-0506: PULL BOX TYPE I									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$1,500.00	13 / each	\$19,500.00		Y				
Product Code: TC-0506		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

TC-0506, WC-1020-101-42 BASE BID TC-0506: SHEET ALUMINUM SIGNS								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$45.00	562 / square foot	\$25,290.00		Υ			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-43 BASE BID TC-050	6: MAST ARM MOUNTED	SIGNS		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$85.00	50 / square foot	\$4,250.00		Υ
Product Code: TC-0506		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

TC-0506, WC-1020-101-44 BASE BID TC-0506: SQUARE STEEL SIGN POST								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$30.00	1105 / linear foot	\$33,150.00		Υ			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-45 BASE BID TC-0506: TRAFFIC STRIPE (PLASTIC) (4 INCH WIDE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$2.80	10210 / linear foot	\$28,588.00		Υ				
Product Code: TC-0506		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

TC-0506, WC-1020-101-46 BASE BID TC-0506: TRAFFIC STRIPE (PLASTIC) (ARROWS)(SINGLE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$400.00	51 / each	\$20,400.00		Υ			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-47 BASE BID TC-0506: 24 IN WIDE CROSSWALK STRIPING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$20.00	335 / each	\$6,700.00		Υ			
Product Code: TC-0506		Supplier Product Code	::					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-48 BASE BID TC-0506: POST TOP LUMNAIRE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$3,000.00	3 / each	\$9,000.00		Υ				
Product Code: TC-0506		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

TC-0506, WC-1020-101-49 BASE BID TC-0506: ROADWAY LUMINAIRE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$9,500.00	16 / each	\$152,000.00		Y			
Product Code: TC-0506		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-50 BASE BID TC-0506: TWIN ROADWAY LUMINAIRE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$10,250.00	5 / each	\$51,250.00		Υ			
Product Code: TC-0506	TC-0506		e:					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-51 BASE BID TC-0506: SOLID SLAB SODDING (U-3 BERMUDA)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$0.40	63770 / square foot	\$25,508.00		Y			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-52 BASE BID TC-0506: RICH MIX SOIL (SP)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$90.00	43 / cubic yard	\$3,870.00		Y			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-53 BASE BID TC-0506: SOIL - TYPE 3 (TURF) (SPECIAL) (SP)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$130.00	356 / cubic yard	\$46,280.00		Υ			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-54 BASE BID TC-0506: TREE REMOVAL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$1,500.00	5 / each	\$7,500.00		Υ			
Product Code: TC-0506		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-55 BASE BID TC-0506: TREES - TYPE 1 (SP)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$600.00	3 / each	\$1,800.00		Υ			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-56 BASE BID TC-0506: TREES - TYPE 2 (SP)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$600.00	35 / each	\$21,000.00		Υ			
Product Code: TC-0506		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-57 BASE BID TC-0506: TREES - TYPE 3 (SP)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$600.00	6 / each	\$3,600.00		Y			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-58 BASE BID TC-0506: TREES - TYPE 4 (SP)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$600.00	30 / each	\$18,000.00		Υ		
Product Code: TC-0506		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-101-59 BASE BID TC-0506: IRRIGATION SUPPLEMENT (SP)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$250.00	80 / each	\$20,000.00		Υ		
Product Code: TC-0506		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-101-60 BASE BID TC-0506: EDGING - TYPE 1 (COMPLETE IN PLACE) (STEEL) (SPECIAL) (SP)						
Supplier	Unit Price	Unit Price Qty/Unit Total Price Attch.			Docs	
Rudy Construction Co.	First Offer - \$30.00	468 / linear foot	\$14,040.00		Υ	

•	
Product Code: TC-0506	Supplier Product Code:
Agency Notes:	Supplier Notes:

TC-0506, WC-1020-101-61 BASE BID TC-0506: MULCH - TYPE 1 (SPECIAL) (SP)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$90.00	14 / cubic yard	\$1,260.00		Y		
Product Code: TC-0506		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-101-62 BASE BID TC-0506: ROOT BARRIER (GEOTEXTILE) (SPECIAL) (SP)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$0.30	6300 / square foot	\$1,890.00		Υ		
Product Code: TC-0506		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-101-63 BASE BID TC-0506: BOULDER TYPE 1 - LARGE						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$350.00	7 / each	\$2,450.00		Υ	
Product Code: TC-0506		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

TC-0506, WC-1020-101-64 BASE BID TC-0506: BOULDER TYPE 2 - MEDIUM							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$300.00	9 / each	\$2,700.00		Υ		
Product Code: TC-0506		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-101-65 BASE BID TC-0506: BOULDER TYPE 3 - SMALL						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$250.00	2 / each	\$500.00		Y	
Product Code: TC-0506		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

TC-0506, WC-1020-101-66 BASE BID TC-0506: DECORATIVE ROCK (SALIDA 4 IN-8 IN)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$525.00	80 / cubic yard	\$42,000.00		Y		
Product Code: TC-0506		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-101-67 BASE BID TC-0506: DECORATIVE ROCK (GRAY HAWK CHIPS 3/8 IN)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$400.00	36 / cubic yard	\$14,400.00		Υ		
Product Code: TC-0506		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-101-68 BASE BID TC-0506: TREES - TYPE 5 (SP)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$600.00	2 / each	\$1,200.00		Υ		
Product Code: TC-0506		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-101-69 BASE BID TC-050	6: TREES - TYPE 6 (SP)		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$600.00	4 / each	\$2,400.00		Υ
Product Code: TC-0506		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			

TC-0506, WC-1020-101-70 BASE BID TC-0506: CURB AND GUTTER (4" MOUNTABLE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$60.00	462 / linear foot	\$27,720.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-71 BASE BID TC-0506: HEADER CURB (4" X 8")									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$60.00	301 / linear foot	\$18,060.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

TC-0506, WC-1020-1–01-72 BASE BID TC-0506: TRAFFIC BOUND SURFACE COURSE TYPE E								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$70.00	246 / ton	\$17,220.00		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-73 BASE BID TC-0506: DESIGN 2-1 INLET COMPLETE IN PLACE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$11,000.00	1 / each	\$11,000.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-101-74 BASE BID TC-0506: PORTLAND CEMENT CONCRETE PAVEMENT (6")								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$135.00	495 / square yard	\$66,825.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-102-01 ALTERNATE 1 TC-0506: CEMENTITIOUS STABILIZED SUBGRADE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$30.00	5550 / square yard	\$166,500.00		Υ			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-102-02 ALTERNATE 1 TC-0506: DEDUCT- BASE BID TACK COAT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - (\$8.00)	788 / gallon	(\$6,304.00)		Υ			
Product Code: TC-0506		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-102-03 ALTERNATE 1 TC-0506: DEDUCT - BASE BID SUPERPAVE, TYPE S5 (PG 76-28)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - (\$185.00)	370 / tons	(\$68,450.00)		Y			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-102-04 ALTERNATE 1 TC-0506: DEDUCT - BASE BID SUPERPAVE, TYPE S3 (PG 76-28 OK)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - (\$140.00)	1376 / tons	(\$192,640.00)		Y			
Product Code: TC-0506		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-102-05 ALTERNATE 1 TC-0506: DEDUCT - BASE BID SUPERPAVE, TYPE S3 (PG 64-22 OK)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - (\$170.00)	635 / tons	(\$107,950.00)		Υ			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-102-06 ALTERNATE 1 TC-0506: PORTLAND CEMENT CONCRETE PAVEMENT (8 IN) (DOWEL JOINTED)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$160.00	3500 / square yard	\$560,000.00		Υ		
Product Code: TC-0506		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-102-07 ALTERNATE 1 TC-0506: HIGH EARLY STRENGTH CONCRETE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$15.00	780 / cubic yard	\$11,700.00		Υ			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-103-01 ALTERNATE 2 TC-0506: PORTLAND CEMENT CONCRETE PAVEMENT (8 IN) (STAMPED) (SP)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$250.00	492 / square yard	\$123,000.00		Y			
Product Code: TC-0506		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-103-02 ALTERNATE 2 TC-0506: DEDUCT - BASE BID CONCRETE UNIT PAVER - TYPE 4 (SPECIAL) (SP)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - (\$35.00)	4420 / square foot	(\$154,700.00)		Y				
Product Code: TC-0506		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

TC-0506, WC-1020-103-03 ALTERNATE 2 TC-0506: CEMENT TREATED BASE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$35.00	495 / square yard	\$17,325.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

TC-0506, WC-1020-103-04 ALTERNATE 2 TC-0506: DEDUCT - PORTLAND CEMENT CONCRETE PAVEMENT (6")								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - (\$135.00)	495 / square yard	(\$66,825.00)		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-104-01 BASE BID WC-1020: SEDIMENT AND EROSION CONTROL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$2,500.00	1 / lump sum	\$2,500.00		Υ		

Product Code: WC-1020

Agency Notes:

Supplier Product Code:
Supplier Notes:

TC-0506, WC-1020-104-02 BASE BID WC-1020: COLOR AUDIO/VIDEO RECORDING PRE & POST CONSTRUCTION DVD								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Y			
Product Code: WC-1020		Supplier Product Code	: :					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-104-03 BASE BID WC-1020: TRENCH EXCAVATION AND BACKFILL - ZERO (0) FT TO TEN (10) FT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$30.00	620 / linear foot	\$18,600.00		Υ			
Product Code: WC-1020		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-104-04 BASE BID WC-1020: TRENCH EXCAVATION AND BACKFILL - ZERO (0) FT TO FIFTEEN (15) FT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$110.00	120 / linear foot	\$13,200.00		Υ			
Product Code: WC-1020		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-104-05 BASE BID WC-1020: EMBEDMENT MATERIAL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$85.00	270 / cubic yard	\$22,950.00		Y			
Product Code: WC-1020		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-104-06 BASE BID WC-1020: AGGREGATE BASE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$115.00	770 / cubic yard	\$88,550.00		Υ			
Product Code: WC-1020		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-104-07 BASE BID WC-1020: BORING (12-INCH CARRIER)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$950.00	70 / linear foot	\$66,500.00		Y				
Product Code: WC-1020		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

TC-0506, WC-1020-104-08 BASE BID WC-1020: BORING (24-INCH CARRIER)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$1,200.00	60 / linear foot	\$72,000.00		Y				
Product Code: WC-1020	Product Code: WC-1020 Supplier Product Code:								
Agency Notes: Supplier Notes:									

TC-0506, WC-1020-104-09 BASE BID WC-1020: (6 IN) (PVC AWWA C900) WATERLINE PIPE (RESTRAINED JOINT) (DR 14)									
Supplier	Unit Price Qty/Unit Total Price Attch.								
Rudy Construction Co.	First Offer - \$105.00	60 / linear foot	\$6,300.00		Υ				
Product Code: WC-1020		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

	TC-0506, WC-1020-104-10	BASE BID WC-10	20: (8 IN) (PVC AWWA C90	O) WATERLINE PIPE (RES	TRAINED JOINT) (DR 14	4)	
- 1							

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$245.00	10 / linear foot	\$2,450.00		Υ
Product Code: WC-1020		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

TC-0506, WC-1020-104-11 BASE BID WC-1020: (10 IN) (PVC AWWA C900) WATERLINE PIPE (RESTRAINED JOINT) (DR 14)									
Supplier Unit Price Qty/Unit Total Price Attch. Do									
Rudy Construction Co.	First Offer - \$260.00	20 / linear foot	\$5,200.00		Y				
Product Code: WC-1020		Supplier Product Code:							
Agency Notes: Supplier Notes:									

TC-0506, WC-1020-104-12 BASE BID WC-1020: (12 IN) (PVC AWWA C900) WATERLINE PIPE (RESTRAINED JOINT) (DR 14)									
Supplier Unit Price Qty/Unit Total Price Attch. D									
Rudy Construction Co.	First Offer - \$220.00	180 / linear foot	\$39,600.00		Υ				
Product Code: WC-1020 Supplier Product Code:									
Agency Notes: Supplier Notes:									

TC-0506, WC-1020-104-13 BASE BID WC-1020: FITTINGS (6 IN x 45 DEG)									
Supplier Unit Price Qty/Unit Total Price Attch. Do									
Rudy Construction Co.	First Offer - \$7.00	440 / pounds	\$3,080.00		Υ				
Product Code: WC-1020 Supplier Product Code:									
Agency Notes:		Supplier Notes:							

TC-0506, WC-1020-104-14 BASE BID WC-1020: FITTINGS (10 IN x 45 DEG)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$10.50	440 / pounds	\$4,620.00		Υ				
Product Code: WC-1020		Supplier Product Code	:						
		Supplier Notes:							

TC-0506, WC-1020-104-15 BASE BID WC-1020: FITTINGS (12 IN x 45 DEG)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$13.00	1470 / pounds	\$19,110.00		Y				
Product Code: WC-1020		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

TC-0506, WC-1020-104-16 BASE BID WC-1020: FITTINGS (16 IN x 11.25 DEG)									
Supplier Unit Price Qty/Unit Total Price Attch. D									
Rudy Construction Co.	First Offer - \$18.50	970 / pounds	\$17,945.00		Y				
Product Code: WC-1020 Supplier Product Code:									
Agency Notes: Supplier Notes:									

TC-0506, WC-1020-104-17 BASE BID WC-1020: FITTINGS (16 IN x 45 DEG)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$19.50	1910 / pounds	\$37,245.00		Υ				
Product Code: WC-1020		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

TC-0506, WC-1020-104-18 BASE BID WC-1020: FITTINGS (24 IN x 45 DEG)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$5,850.00	6 / each	\$35,100.00		Υ	
Product Code: WC-1020		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

TC-0506, WC-1020-104-19 BASE BID WC-1020: FITTINGS (8 IN x 6 IN TEE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$2,100.00	1 / each	\$2,100.00		Y		
Product Code: WC-1020		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-104-20 BASE BID WC-1020: FITTINGS (20 IN x 20 IN TEE)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$9,200.00	1 / each	\$9,200.00		Y	
Product Code: WC-1020		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				

TC-0506, WC-1020-104-21 BASE BID WC-1020: FITTINGS (24 IN x 6 IN TEE)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$8,200.00	3 / each	\$24,600.00		Υ	
Product Code: WC-1020		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

TC-0506, WC-1020-104-22 BASE BID WC-1020: FITTINGS (23 IN x 8 IN TEE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$8,500.00	1 / each	\$8,500.00		Υ		
Product Code: WC-1020		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-104-23 BASE BID WC-1020: FITTINGS (24 IN x 12 IN TEE)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$8,800.00	1 / each	\$8,800.00		Υ	
Product Code: WC-1020		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

TC-0506, WC-1020-104-24 BASE BID WC-1020: FITTINGS (24 IN x 16 IN TEE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$9,400.00	1 / each	\$9,400.00		Υ		
Product Code: WC-1020 Agency Notes:		Supplier Product Code Supplier Notes:	e:				

TC-0506, WC-1020-104-25 BASE BID WC-1020: FITTINGS (24 IN x 20 IN TEE)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$10,300.00	1 / each	\$10,300.00		Y	
Product Code: WC-1020		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

TC-0506, WC-1020-104-26 BASE BID WC-1020: FITTINGS (24 IN PLUG)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$4,400.00	2 / each	\$8,800.00		Y		
Product Code: WC-1020		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-104-27 BASE BID WC-1020: FITTINGS (8 IN BLIND FLANGE WITH 2" THREADED OUTLET)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$1,400.00	1 / each	\$1,400.00		Υ

•		
Product Code: WC-1020	Supplier Product Code:	
Agency Notes:	Supplier Notes:	

TC-0506, WC-1020-104-28 BASE BID WC-1020: WATER SERVICE LINE SHORT(1 IN)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$2,800.00	2 / each	\$5,600.00		Υ	
Product Code: WC-1020		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

TC-0506, WC-1020-104-29 BASE BID WC-1020: WATER SERVICE LINE LONG (2 IN)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$3,600.00	2 / each	\$7,200.00		Υ			
Product Code: WC-1020		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-104-30 BASE BID WC-1020: METER RELOCATION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$4,300.00	2 / each	\$8,600.00		Υ			
Product Code: WC-1020		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-104-31 BASE BID WC-1020: WET CONNECTION (20 IN)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$16,500.00	1 / each	\$16,500.00		Υ			
Product Code: WC-1020		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-104-32 BASE BID WC-1020: WET CONNECTION (10 IN)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$14,500.00	1 / each	\$14,500.00		Y			
Product Code: WC-1020		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-104-33 BASE BID WC-1020: (6 IN) TAP									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$3,200.00	1 / each	\$3,200.00		Υ				
Product Code: WC-1020 Agency Notes:		Supplier Product Code Supplier Notes:	e:						

TC-0506, WC-1020-104-34 BASE BID WC-1020: (12 IN) TAP								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$5,700.00	1 / each	\$5,700.00		Υ			
Product Code: WC-1020		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-104-35 BASE BID WC-1020: (16 IN) TAP									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$14,600.00	1 / each	\$14,600.00		Υ				
Product Code: WC-1020		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

TC-0506, WC-1020-104-36 BASE BID W	C-1020: FIRE HYDRANT ASSEMBL	.Υ		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$10,500.00	2 / each	\$21,000.00		Υ
Product Code: WC-1020		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

TC-0506, WC-1020-104-37 BASE BID WC-1020: REMOVAL OF FIRE HYDRANT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$700.00	1 / each	\$700.00		Υ			
Product Code: WC-1020		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-104-38 BASE BID WC-1020: (6 IN) (GATE) VALVE AND VALVE BOX								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$2,200.00	2 / each	\$4,400.00		Υ			
Product Code: WC-1020		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-104-39 BASE BID WC-1020: (8 IN) (GATE) VALVE AND VALVE BOX								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$3,300.00	1 / each	\$3,300.00		Υ			
Product Code: WC-1020		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-104-40 BASE BID WC-1020: (6 IN) (TAPPING) VALVE AND VALVE BOX								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$2,200.00	1 / each	\$2,200.00		Υ			
Product Code: WC-1020		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-104-41 BASE BID WC-1020: (12 IN) (TAPPING) VALVE AND VALVE BOX								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$5,900.00	1 / each	\$5,900.00		Υ			
Product Code: WC-1020		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-104-42 BASE BID WC-1020: (16 IN) (TAPPING) VALVE AND VALVE BOX								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$15,000.00	1 / each	\$15,000.00		Υ			
Product Code: WC-1020		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-104-43 BASE BID WC-1020: (16 IN) (INSERTION) VALVE AND VALVE BOX								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$46,000.00	1 / each	\$46,000.00		Υ			
Product Code: WC-1020		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-104-44 BASE BID WC-1020: (20 IN) (BUTTERFLY) VALVE AND VAULT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$43,000.00	2 / each	\$86,000.00		Y			
Product Code: WC-1020		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-104-45 BASE BID WC-1020: (24 IN) (BUTTERFLY) VALVE AND VAULT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$48,000.00	2 / each	\$96,000.00		Υ			
Product Code: WC-1020		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-104-46 BASE BID WC-1020: HYDROSTATIC PRESSURE TESTING AND DISINFECTION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$17,500.00	1 / lump sum	\$17,500.00		Y			
Product Code: WC-1020		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-104-47 BASE BID WC-1020: (6 IN) TAPPING SLEEVE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$4,300.00	1 / each	\$4,300.00		Υ			
Product Code: WC-1020		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

TC-0506, WC-1020-104-48 BASE BID WC-1020: (12 IN) TAPPING SLEEVE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$7,800.00	1 / each	\$7,800.00		Υ				
Product Code: WC-1020		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

TC-0506, WC-1020-104-49 BASE BID WC-1020: (16 IN) TAPPING SLEEVE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$14,200.00	1 / each	\$14,200.00		Υ				
Product Code: WC-1020		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

TC-0506, WC-1020-104-50 BASE BID WC-1020: STEEL CASING PIPE (12-INCH CARRIER) (BY OPEN CUT)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$560.00	60 / linear foot	\$33,600.00		Υ				
Product Code: WC-1020 Agency Notes:		Supplier Product Code: Supplier Notes:							

TC-0506, WC-1020-104-51 BASE BID WC-1020: STEEL CASING PIPE (24-INCH CARRIER) (BY OPEN CUT)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$610.00	100 / linear foot	\$61,000.00		Υ				
Product Code: WC-1020		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

TC-0506, WC-1020-104-52 BASE BID WC-1020: CONSTRUCTION STAKING							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$12,400.00	1 / lump sum	\$12,400.00		Y		
Product Code: WC-1020		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-104-53 BASE BID WC-1020: MOBILIZATION						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$35,800.00	1 / lump sum	\$35,800.00		Υ	

Product Code: WC-1020

Agency Notes:

Supplier Product Code:
Supplier Notes:

TC-0506, WC-1020-104-54 BASE BID WC-1020: REMOVE AND REPLACE DRIVEWAY							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$240.00	10 / square yard	\$2,400.00		Υ		
Product Code: WC-1020		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-104-55 BASE BID WC-1020: REPLACE SIDEWALK (5 FT)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$240.00	115 / square yard	\$27,600.00		Υ		
Product Code: WC-1020		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-104-56 BASE BID WC-1020: SOLID SLAB SOD							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$4.60	830 / square yard	\$3,818.00		Y		
Product Code: WC-1020		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-104-57 BASE BID WC-1020: 20 IN DOUBLE LINE STOP W/ BYPASS							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$92,000.00	1 / lump sum	\$92,000.00		Y		
Product Code: WC-1020		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-105-01 ALTERNATE 1 WC-1020: (16 IN) (PVC AWWA C900) WATERLINE PIPE (RESTRAINED JOINT) (DR 18)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$280.00	100 / linear foot	\$28,000.00		Υ		
Product Code: WC-1020		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-105-02 ALTERNATE 1 WC-1020: (20 IN) (PVC AWWA C900) WATERLINE PIPE (RESTRAINED JOINT) (DR 18)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$375.00	40 / linear foot	\$15,000.00		Y		
Product Code: WC-1020		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-105-03 ALTERNATE 1 WC-1020: (24 IN) (PVC AWWA C900) WATERLINE PIPE (RESTRAINED JOINT) (DR 18)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$465.00	410 / linear foot	\$190,650.00		Y		
Product Code: WC-1020		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-106-01 ALTERNATE 2 WC-1020: (16 IN) (DIP AWWA C151) WATERLINE PIPE (RESTRAINED JOINT) (CLASS 250)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$305.00	100 / linear foot	\$30,500.00		Υ		
Product Code: WC-1020		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-106-02	ALTERNATE 2 WC-1020: (20 IN) (DIF	PAWWA C151) WATERLINE P	IPE (RESTRAINED JOINT) (CLASS 250)
-------------------------	-----------------------------------	-------------------------	------------------------------------

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$425.00	40 / linear foot	\$17,000.00		Υ
Product Code: WC-1020		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

TC-0506, WC-1020-106-03 ALTERNATE 2 WC-1020: (24 IN) (DIP AWWA C151) WATERLINE PIPE (RESTRAINED JOINT) (CLASS 200)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$505.00	410 / linear foot	\$207,050.00		Υ		
Product Code: WC-1020		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-106-04 ALTERNATE 2 WC-1020: (16 IN) POLYETHYLENE ENCASEMENT (8 MILS)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$13.00	100 / linear foot	\$1,300.00		Y		
Product Code: WC-1020		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-106-05 ALTERNATE 2 WC-1020: (20 IN) POLYETHYLENE ENCASEMENT (8 MILS)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$25.00	40 / linear foot	\$1,000.00		Υ		
Product Code: WC-1020		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0506, WC-1020-106-06 ALTERNATE 2 WC-1020: (24 IN) POLYETHYLENE ENCASEMENT (8 MILS)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$17.00	410 / linear foot	\$6,970.00	Υ	Υ		
Product Code: WC-1020		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

Supplier Totals

f Rudy Const	ruction Co.	\$5,873,086.85 (151/151 items	;)
Bid Contact	Doug Walker kratliff@rudycc.com Ph 405-478-9900 Fax 405-478-9901	Address 3101 NE 63rd Street Oklahoma City, OK 7312	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	(Status: This bid bond could not be verified)		
Agency Notes		Supplier Notes:	Head Attch

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid Committee Bid Tab

City Clerk

Bid TC-0631 TC-0633 Ended At Oct 16, 2024 10:00:00 AM CDT CONSTRUCTION/CITY - Intersection Improvements

Company:		MIDSTATE TRAFFIC CONTROL, INC.	Traffic Signals, Inc.
Base Bid - TC-0631	\$526,642.60	\$562,168.25	\$575,574.70
Alternate 1 - TC-0633	\$557,107.60	\$606,627.45	\$611,241.70
TOTAL BID:	\$1,083,750.20	\$1,168,795.70	\$1,186,816.40

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #TC-0631 TC-0633 - Intersection Improvements

Start Date Sep 11, 2024 7:39:26 AM CDT Awarded Date Not Yet Awarded

TC-0631 TC-063301-01 Base Bid - TC-0631: UNCLASSIFIED EXCAVATION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$40.00	20 / cubic yard	\$800.00	Υ	Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Traffic Signals, Inc.	First Offer - \$48.00	20 / cubic yard	\$960.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
TLS Group, Inc.	First Offer - \$120.00	20 / cubic yard	\$2,400.00	Υ	Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

TC-0631 TC-063301-02 Base Bid - TC-0631:	BORROW				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Traffic Signals, Inc.	First Offer - \$72.00	50 / cubic yard	\$3,600.00		Υ
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$78.00	50 / cubic yard	\$3,900.00		Υ
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
TLS Group, Inc.	First Offer - \$133.00	50 / cubic yard	\$6,650.00	Υ	Υ
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			

TC-0631 TC-063301-03 Base Bid - TC-0631: CURB AND GUTTER(2ft-8inch(8inch BARRIER)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$48.00	214 / linear foot	\$10,272.00		Υ		
Product Code:		Supplier Product Code	•				
Agency Notes:		Supplier Notes:					
Traffic Signals, Inc.	First Offer - \$66.00	214 / linear foot	\$14,124.00		Υ		
Product Code:		Supplier Product Code	•				
Agency Notes:		Supplier Notes:					
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$72.00	214 / linear foot	\$15,408.00		Y		
Product Code:		Supplier Product Code					
Agency Notes:		Supplier Notes:					

TC-0631 TC-063301-04 Base Bid - TC-0631: E.P.S. OPTICAL DETECTOR							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Traffic Signals, Inc.	First Offer - \$935.00	2 / each	\$1,870.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$950.00	2 / each	\$1,900.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
TLS Group, Inc.	First Offer - \$1,175.00	2 / each	\$2,350.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

TC-0631 TC-063301-05 Base Bid - TC-0631: E.P.S. 2 CHANNEL PHASE DETECTOR							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$3,825.00	1 / each	\$3,825.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Traffic Signals, Inc.	First Offer - \$4,645.00	1 / each	\$4,645.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
TLS Group, Inc.	First Offer - \$4,750.00	1 / each	\$4,750.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

TC-0631 TC-063301-06 Base Bid - TC-0631: OPTICAL DETECTOR CABLE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$2.50	425 / linear foot	\$1,062.50		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
TLS Group, Inc.	First Offer - \$3.50	425 / linear foot	\$1,487.50		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$5.00	425 / linear foot	\$2,125.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

TC-0631 TC-063301-07 Base Bid - TC-0631: VEHICLE ACTUATED TRAFFIC SIGNAL CONTROL ASSEMBLY										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Traffic Signals, Inc.	First Offer - \$42,985.00	1 / lump sum	\$42,985.00		Υ					
Product Code:	de:									
Agency Notes:		Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$51,000.00	1 / lump sum	\$51,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
TLS Group, Inc.	First Offer - \$51,800.00	1 / lump sum	\$51,800.00		Υ					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								

TC-0631 TC-063301-08 Base Bid - TC-0631: 2inch TRAFFIC SIGNAL CONDUIT (TRENCHED)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$10.00	200 / linear foot	\$2,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Traffic Signals, Inc.	First Offer - \$22.00	200 / linear foot	\$4,400.00		Y				
Product Code:		Supplier Product Code:	.						
Agency Notes:		Supplier Notes:							
TLS Group, Inc.	First Offer - \$22.50	200 / linear foot	\$4,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

TC-0631 TC-063301-09 Base Bid - TC-0631: 3inch TRAFFIC SIGNAL CONDUIT (TRENCHED)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$15.00	60 / linear foot	\$900.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:	Supplier Notes:								

Traffic Signals, Inc.	First Offer - \$25.00	60 / linear foot	\$1,500.00	Υ
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
TLS Group, Inc.	First Offer - \$52.00	60 / linear foot	\$3,120.00	Υ
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		

TC-0631 TC-063301-10 Base Bid - TC-0631: 3inch TRAFFIC SIGNAL CONDUIT (BORED)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TLS Group, Inc.	First Offer - \$40.00	500 / linear foot	\$20,000.00		Y					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$45.00	500 / linear foot	\$22,500.00		Y					
Product Code:		Supplier Product Code:	•							
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$48.00	500 / linear foot	\$24,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

TC-0631 TC-063301-11 Base Bid - TC-0631: TWO CONDUCTOR SHIELDED CABLE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TLS Group, Inc.	First Offer - \$2.20	40 / linear foot	\$88.00		Y					
Product Code:		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$3.00	40 / linear foot	\$120.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$5.00	40 / linear foot	\$200.00		Y					
Product Code:		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								

TC-0631 TC-063301-12 Base Bid - TC-0631: (5) CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TLS Group, Inc.	First Offer - \$4.00	4000 / linear foot	\$16,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$6.00	4000 / linear foot	\$24,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$6.00	4000 / linear foot	\$24,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

TC-0631 TC-063301-13 Base Bid - TC-0631: (7) CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Traffic Signals, Inc.	First Offer - \$7.00	140 / linear foot	\$980.00		Υ					
		Supplier Product Code: Supplier Notes:								
TLS Group, Inc.	First Offer - \$7.00	140 / linear foot	\$980.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$8.00	140 / linear foot	\$1,120.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								

TC-0631 TC-063301-14 Base Bid - TC-0631: (21) CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TLS Group, Inc.	First Offer - \$12.00	500 / linear foot	\$6,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$12.00	500 / linear foot	\$6,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$15.00	500 / linear foot	\$7,500.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

TC-0631 TC-063301-15 Base Bid - TC-0631: (1/CONDUCTOR)(AWG NO. 6) ELECTRICAL CONDUCTOR										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TLS Group, Inc.	First Offer - \$2.40	350 / linear foot	\$840.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$3.00	350 / linear foot	\$1,050.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$4.00	350 / linear foot	\$1,400.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

TC-0631 TC-063301-16 Base Bid - TC-0631: (1/CONDUCTOR)(AWG NO. 10) ELECTRICAL CONDUCTOR										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TLS Group, Inc.	First Offer - \$1.70	1750 / linear foot	\$2,975.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$2.00	1750 / linear foot	\$3,500.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$3.00	1750 / linear foot	\$5,250.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								

TC-0631 TC-063301-17 Base Bid - TC-0631: THREE (3) SECTION TRAFFIC SIGNAL HEAD							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$995.00	8 / each	\$7,960.00		Y		
Product Code:	Product Code: Supplier Product Code:						
Agency Notes:		Supplier Notes:					
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$1,050.00	8 / each	\$8,400.00		Y		
Product Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:					
Traffic Signals, Inc.	First Offer - \$1,495.00	8 / each	\$11,960.00		Y		
Product Code:	oduct Code: Supplier Product Code:						
Agency Notes:		Supplier Notes:					

TC-0631 TC-0633–01-18 Base Bid - TC-0631: FOUR (4) SECTION TRAFFIC SIGNAL HEAD							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$1,200.00	2 / each	\$2,400.00		Υ		
Product Code: Supplier Product Code:							
Agency Notes:	Supplier Notes:						

MIDSTATE TRAFFIC CONTROL, INC.		First Offer - \$1,375.00	2 / each	\$2,750.00		Y
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Traffic Signals, Inc.		First Offer - \$1,625.00	2 / each	\$3,250.00		Υ
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			

TC-0631 TC-063301-19 Base Bid - TC-0631: PEDESTRIAN SIGNAL HEAD							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$765.00	8 / each	\$6,120.00		Y		
Product Code:	Code: Supplier Product Code:						
Agency Notes:		Supplier Notes:					
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$850.00	8 / each	\$6,800.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Traffic Signals, Inc.	First Offer - \$920.00	8 / each	\$7,360.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

TC-0631 TC-063301-20 Base Bid - TC-0631: PEDESTRIAN PUSH BUTTON AND SIGN							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$1,030.00	8 / each	\$8,240.00		Υ		
Product Code:	uct Code: Supplier Product Code:						
Agency Notes:		Supplier Notes:					
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$1,200.00	8 / each	\$9,600.00		Υ		
Product Code:	Product Code: Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Traffic Signals, Inc.	First Offer - \$1,465.00	8 / each	\$11,720.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

TC-0631 TC-063301-21 Base Bid - TC-0631: POLE & SPECIFIED 25ft MAST ARM(S) & LUM. ARM (INSTALLED)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$19,500.00	1 / each	\$19,500.00		Y		
Product Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:					
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$20,500.00	1 / each	\$20,500.00		Y		
Product Code:	oduct Code: Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Traffic Signals, Inc.	First Offer - \$22,500.00	1 / each	\$22,500.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:	Supplier Notes:						

TC-0631 TC-063301-22 Base Bid - TC-0631: POLE & SPECIFIED 45ft MAST ARM(S) & LUM. ARM (INSTALLED)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$30,000.00	1 / each	\$30,000.00		Υ		
Product Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:					
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$35,550.00	1 / each	\$35,550.00		Υ		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Traffic Signals, Inc.	First Offer - \$38,600.00	1 / each	\$38,600.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

TC-0631 TC-063301-23 Base Bid - TC-0631: POLE & SPECIFIED 45ft MAST ARM										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TLS Group, Inc.	First Offer - \$28,000.00	1 / each	\$28,000.00		Υ					
Product Code:	roduct Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$33,050.00	1 / each	\$33,050.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$36,150.00	1 / each	\$36,150.00		Υ					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								

TC-0631 TC-063301-24 Base Bid - TC-0631: POLE & SPECIFIED 50ft MAST ARM(S) & LUM. ARM (INSTALLED)										
Supplier	Unit Price	e Qty/Unit Total Price Attch. D								
TLS Group, Inc.	First Offer - \$31,500.00	1 / each	\$31,500.00		Υ					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$37,850.00	1 / each	\$37,850.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$41,200.00	1 / each	\$41,200.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

TC-0631 TC-063301-25 Base Bid - TC-0631: PEDESTAL POLE W/ 10-FT MOUNTING HEIGHT										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Traffic Signals, Inc.	First Offer - \$915.00	7 / each	\$6,405.00		Y					
Product Code:	roduct Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:								
TLS Group, Inc.	First Offer - \$965.00	7 / each	\$6,755.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$2,500.00	7 / each	\$17,500.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

TC-0631 TC-063301-26 Base Bid - TC-0631: STRUCTURAL CONCRETE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Traffic Signals, Inc.	First Offer - \$1,111.00	29 / cubic yard	\$32,219.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$1,200.00	29 / cubic yard	\$34,800.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
TLS Group, Inc.	First Offer - \$1,300.00	29 / cubic yard	\$37,700.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

TC-0631 TC-063301-27 Base Bid - TC-0631: REINFORCING STEEL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$2.50	4046 / pounds	\$10,115.00		Υ				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							

MIDSTATE TRAFFIC CONTROL, INC.	First Off	fer - \$3.00	4046 / pounds	\$12,138.00	Υ
Product Code:		:	Supplier Product Code	:	
Agency Notes:			Supplier Notes:		
Traffic Signals, Inc.	First Off	fer - \$3.10	4046 / pounds	\$12,542.60	Υ
Product Code:			Supplier Product Code	:	
Agency Notes:		!	Supplier Notes:		

TC-0631 TC-063301-28 Base Bid - TC-0631: PULL BOX TYPE II									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$1,500.00	4 / each	\$6,000.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
TLS Group, Inc.	First Offer - \$1,530.00	4 / each	\$6,120.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Traffic Signals, Inc.	First Offer - \$2,465.00	4 / each	\$9,860.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

TC-0631 TC-063301-29 Base Bid - TC-0631: REMOVAL OF EXISTING SIGNS										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$150.00	2 / each	\$300.00		Y					
Product Code: Supplier Product Code:										
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$225.00	2 / each	\$450.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
TLS Group, Inc.	First Offer - \$350.00	2 / each	\$700.00		Υ					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								

TC-0631 TC-063301-30 Base Bid - TC-0631: MAST ARM MOUNTED SIGNS										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TLS Group, Inc.	First Offer - \$64.00	111 / square foot	\$7,104.00		Y					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$86.00	111 / square foot	\$9,546.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$100.00	111 / square foot	\$11,100.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

TC-0631 TC-063301-31 Base Bid - TC-0631: TRAFFIC STRIPE (MULTI-POLYMER) (4inch WIDE)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TLS Group, Inc.	First Offer - \$1.20	4372 / linear foot	\$5,246.40		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$1.35	4372 / linear foot	\$5,902.20		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$3.00	4372 / linear foot	\$13,116.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								

TC-0631 TC-063301-32 Base Bid - TC-0631: TRAFFIC STRIPE (MULTI-POLYMER) (12inch WIDE)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TLS Group, Inc.	First Offer - \$4.80	257 / linear foot	\$1,233.60		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$5.50	257 / linear foot	\$1,413.50		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$6.00	257 / linear foot	\$1,542.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

TC-0631 TC-063301-33 Base Bid - TC-0631: TRAFFIC STRIPE (MULTI-POLYMER) (24inch WIDE)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TLS Group, Inc.	First Offer - \$18.00	605 / linear foot	\$10,890.00		Y					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$20.00	605 / linear foot	\$12,100.00		Y					
Product Code:		Supplier Product Code	:							
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$23.00	605 / linear foot	\$13,915.00		Y					
Product Code:		Supplier Product Code	:							
Agency Notes:		Supplier Notes:								

TC-0631 TC-063301-34 Base Bid - TC-0631: TRAFFIC STRIPE (MULTI-POLY) (ARROW) (SINGLE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Traffic Signals, Inc.	First Offer - \$250.00	7 / each	\$1,750.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
TLS Group, Inc.	First Offer - \$301.00	7 / each	\$2,107.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:						
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$340.00	7 / each	\$2,380.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:						

TC-0631 TC-063301-35 Base Bid - TC-0631: TRAFFIC STRIPE (MULTI-POLY) (ARROW) (DOUBLE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Traffic Signals, Inc.	First Offer - \$350.00	1 / each	\$350.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
TLS Group, Inc.	First Offer - \$542.00	1 / each	\$542.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$600.00	1 / each	\$600.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:						

TC-0631 TC-063301-36 Base Bid - TC-0631: REMOVE TRAFFIC STRIPE (4inch WIDE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$1.20	6583 / linear foot	\$7,899.60		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

Traffic Signals, Inc.	First Offer - \$1.35	6583 / linear foot	\$8,887.05	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$1.35	6583 / linear foot	\$8,887.05	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

TC-0631 TC-063301-37 Base Bid - TC-0631: RADAR VEHICLE DETECTION FOR 3-WAY INTERSECTION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Traffic Signals, Inc.	First Offer - \$59,400.00	1 / each	\$59,400.00		Y				
Product Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:							
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$61,650.00	1 / each	\$61,650.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
TLS Group, Inc.	First Offer - \$67,500.00	1 / each	\$67,500.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

TC-0631 TC-063301-38 Base Bid - TC-0631: CONTRUCTION STAKING										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TLS Group, Inc.	First Offer - \$2,840.00	1 / lump sum	\$2,840.00		Υ					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$4,100.00	1 / lump sum	\$4,100.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$6,500.00	1 / lump sum	\$6,500.00		Υ					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								

TC-0631 TC-063301-39 Base Bid - TC-0631: CONSTRUCTION TRAFFIC CONTROL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Traffic Signals, Inc.	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$19,575.00	1 / lump sum	\$19,575.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
TLS Group, Inc.	First Offer - \$20,500.00	1 / lump sum	\$20,500.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

TC-0631 TC-063301-40 Base Bid - TC-0631: MOBILIZATION										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$8,000.00	1 / lump sum	\$8,000.00		Υ					
Product Code: Supplier Product Code:										
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$15,775.00	1 / lump sum	\$15,775.00		Υ					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								
TLS Group, Inc.	First Offer - \$26,500.00	1 / lump sum	\$26,500.00		Υ					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								

TC-0631 TC-063301-41 Base Bid - TC-0631: CLEARING AND GRUBBING										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$2,600.00	1 / lump sum	\$2,600.00		Y					
Product Code:	Product Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:								
TLS Group, Inc.	First Offer - \$3,310.00	1 / lump sum	\$3,310.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$3,500.00	1 / lump sum	\$3,500.00		Y					
Product Code:		Supplier Product Cod	de:							
Agency Notes:		Supplier Notes:								

TC-0631 TC-063301-42 Base Bid - TC-0631: REMOVE CURB AND GUTTER										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$26.00	226 / linear foot	\$5,876.00		Υ					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
TLS Group, Inc.	First Offer - \$30.00	226 / linear foot	\$6,780.00		Υ					
Product Code:		Supplier Product Code:	:							
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$37.00	226 / linear foot	\$8,362.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

TC-0631 TC-063301-43 Base Bid - TC-0631: SAWCUT PAVEMENT									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$12.00	261 / linear foot	\$3,132.00		Y				
Product Code:		Supplier Product Code							
Agency Notes:		Supplier Notes:							
Traffic Signals, Inc.	First Offer - \$12.75	261 / linear foot	\$3,327.75		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$13.00	261 / linear foot	\$3,393.00		Y				
Product Code:		Supplier Product Code							
Agency Notes:		Supplier Notes:							

TC-0631 TC-063301-44 Base Bid - TC-0631: REMOVAL OF SIDEWALK										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TLS Group, Inc.	First Offer - \$18.00	126 / square yard	\$2,268.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$24.55	126 / square yard	\$3,093.30		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$26.00	126 / square yard	\$3,276.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								

TC-0631 TC-063301-45 Base Bid - TC-0631: ADJUST EXISTING STRUCTURE (WATER VALVE)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$650.00	1 / each	\$650.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

Traffic Signals, Inc.	First Offer - \$665.00	1 / each	\$665.00	Y
Product Code: Supplier Product Code:				
Agency Notes:		Supplier Notes:		
TLS Group, Inc.	First Offer - \$3,310.00	1 / each	\$3,310.00	Υ
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		

TC-0631 TC-063301-46 Base Bid - TC-0631: SIDEWALK							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$76.50	67 / square yard	\$5,125.50		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Traffic Signals, Inc.	First Offer - \$120.00	67 / square yard	\$8,040.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$130.00	67 / square yard	\$8,710.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0631 TC-063301-47 Base Bid - TC-0631: SIDEWALK (STAMPED)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$133.00	7 / square yard	\$931.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$650.00	7 / square yard	\$4,550.00		Υ			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						
Traffic Signals, Inc.	First Offer - \$785.00	7 / square yard	\$5,495.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

TC-0631 TC-063301-48 Base Bid - TC-0631: DRIVEWAY (WIDTH VARIES)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$90.50	22 / square yard	\$1,991.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$195.00	22 / square yard	\$4,290.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Traffic Signals, Inc.	First Offer - \$275.00	22 / square yard	\$6,050.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0631 TC-063301-49 Base Bid - TC-0631: ADA CURB RAMP (8inch)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$1,450.00	6 / each	\$8,700.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Traffic Signals, Inc.	First Offer - \$2,900.00	6 / each	\$17,400.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$3,000.00	6 / each	\$18,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:				

TC-0631 TC-063301-50 Base Bid - TC-0631: TACTILE MARKERS/TRUNCATED DOMES								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$54.00	71 / square yard	\$3,834.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Traffic Signals, Inc.	First Offer - \$55.00	71 / square yard	\$3,905.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$65.00	71 / square yard	\$4,615.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0631 TC-063301-51 Base Bid - TC-0631: SOLID SLAB SODDING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Traffic Signals, Inc.	First Offer - \$12.00	179 / square yard	\$2,148.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$13.00	179 / square yard	\$2,327.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
TLS Group, Inc.	First Offer - \$18.00	179 / square yard	\$3,222.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0631 TC-063301-52 Base Bid - TC-0631: SILT SOCK							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Traffic Signals, Inc.	First Offer - \$168.00	2 / each	\$336.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:				
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$195.00	2 / each	\$390.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
TLS Group, Inc.	First Offer - \$361.00	2 / each	\$722.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:				

TC-0631 TC-063301-53 Base Bid - TC-0631: FILTER FABRIC SILT FENCE-COMPLETE IN PLACE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Traffic Signals, Inc.	First Offer - \$6.00	136 / linear foot	\$816.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$10.00	136 / linear foot	\$1,360.00		Y			
Product Code:		Supplier Product Code:	•					
Agency Notes:		Supplier Notes:						
TLS Group, Inc.	First Offer - \$12.00	136 / linear foot	\$1,632.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0631 TC-063302-01 Alternate 1 - TC-0633: UNCLASSIFIED EXCAVATION							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$40.00	20 / cubic yard	\$800.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

Traffic Signals, Inc.	First Offer - \$55.00	20 / cubic yard	\$1,100.00	Υ
Product Code:		Supplier Product Cod	e:	
Agency Notes:		Supplier Notes:		
TLS Group, Inc.	First Offer - \$120.00	20 / cubic yard	\$2,400.00	Y
Product Code:		Supplier Product Cod	e:	
Agency Notes:		Supplier Notes:		

TC-0631 TC-063302-02 Alternate 1 - TC-0633: BORROW										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TLS Group, Inc.	First Offer - \$54.00	350 / cubic yard	\$18,900.00		Y					
Product Code: Supplier Product Code:										
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$78.00	350 / cubic yard	\$27,300.00		Υ					
Product Code:		Supplier Product Code	•							
Agency Notes:		Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$78.00	350 / cubic yard	\$27,300.00		Y					
Product Code:		Supplier Product Code								
Agency Notes:		Supplier Notes:								

TC-0631 TC-063302-03 Alternate 1 - TC-0633: CURB AND GUTTER(2ft-8inch)(8inch BARRIER)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TLS Group, Inc.	First Offer - \$48.00	150 / linear foot	\$7,200.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$65.00	150 / linear foot	\$9,750.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$72.00	150 / linear foot	\$10,800.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

TC-0631 TC-063302-04 Alternate 1 - TC-0633: E.P.S. OPTICAL DETECTOR										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$950.00	4 / each	\$3,800.00		Y					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$985.00	4 / each	\$3,940.00		Y					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								
TLS Group, Inc.	First Offer - \$1,175.00	4 / each	\$4,700.00		Υ					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								

TC-0631 TC-063302-05 Alternate 1 - TC-0633: E.P.S. 2 CHANNEL PHASE DETECTOR										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$3,825.00	2 / each	\$7,650.00		Y					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
Traffic Signals, Inc.	First Offer - \$4,275.00	2 / each	\$8,550.00		Y					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:							
TLS Group, Inc.	First Offer - \$4,750.00	2 / each	\$9,500.00		Y					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:							

TC-0631 TC-063302-06 Alternate 1 - TC-0633: OPTICAL DETECTOR CABLE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$2.50	1050 / linear foot	\$2,625.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
TLS Group, Inc.	First Offer - \$3.00	1050 / linear foot	\$3,150.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$5.00	1050 / linear foot	\$5,250.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

TC-0631 TC-063302-07 Alternate 1 - TC-0633: VEHICLE ACTUATED TRAFFIC SIGNAL CONTROL ASSEMBLY										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Traffic Signals, Inc.	First Offer - \$42,998.00	1 / lump sum	\$42,998.00		Y					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$51,000.00	1 / lump sum	\$51,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
TLS Group, Inc.	First Offer - \$51,800.00	1 / lump sum	\$51,800.00		Y					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								

TC-0631 TC-063302-08 Alternate 1 - TC-0633: 2inch TRAFFIC SIGNAL CONDUIT (TRENCHED)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$10.00	240 / linear foot	\$2,400.00		Υ					
Product Code:	roduct Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:								
TLS Group, Inc.	First Offer - \$20.00	240 / linear foot	\$4,800.00		Υ					
Product Code:		Supplier Product Code	•							
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$22.00	240 / linear foot	\$5,280.00		Υ					
Product Code:		Supplier Product Code								
Agency Notes:		Supplier Notes:								

TC-0631 TC-063302-09 Alternate 1 - TC-0633: 3inch TRAFFIC SIGNAL CONDUIT (TRENCHED)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$15.00	65 / linear foot	\$975.00		Υ					
Product Code:		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$25.00	65 / linear foot	\$1,625.00		Υ					
Product Code:		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								
TLS Group, Inc.	First Offer - \$52.00	65 / linear foot	\$3,380.00		Υ					
Product Code:		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								

TC-0631 TC-063302-10 Alternate 1 - TC-0633: 3inch TRAFFIC SIGNAL CONDUIT (BORED)								
Supplier	Unit Price Qty/Unit Total Price Attch.							
TLS Group, Inc.	First Offer - \$40.00	400 / linear foot	\$16,000.00		Υ			
Product Code:		Supplier Product Code	•					
Agency Notes:		Supplier Notes:						

MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$45.00	400 / linear foot	\$18,000.00	Y
Product Code:		Supplier Product Code	•	
Agency Notes:		Supplier Notes:		
Traffic Signals, Inc.	First Offer - \$48.00	400 / linear foot	\$19,200.00	Υ
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		

TC-0631 TC-063302-11 Alternate 1 - TC-0633: TWO CONDUCTOR SHIELDED CABLE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$2.20	40 / linear foot	\$88.00		Υ				
Product Code:	Product Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:							
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$3.00	40 / linear foot	\$120.00		Y				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							
Traffic Signals, Inc.	First Offer - \$5.00	40 / linear foot	\$200.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

TC-0631 TC-063302-12 Alternate 1 - TC-0633: (5) CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TLS Group, Inc.	First Offer - \$4.00	4500 / linear foot	\$18,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$6.00	4500 / linear foot	\$27,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$6.00	4500 / linear foot	\$27,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

TC-0631 TC-063302-13 Alternate 1 - TC-0633: (7) CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Traffic Signals, Inc.	First Offer - \$7.00	275 / linear foot	\$1,925.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
TLS Group, Inc.	First Offer - \$7.00	275 / linear foot	\$1,925.00		Υ					
Product Code:		Supplier Product Code:	1							
Agency Notes:		Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$8.00	275 / linear foot	\$2,200.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

TC-0631 TC-063302-14 Alternate 1 - TC-0633: (21) CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$12.00	490 / linear foot	\$5,880.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$12.00	490 / linear foot	\$5,880.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Traffic Signals, Inc.	First Offer - \$15.00	490 / linear foot	\$7,350.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

TC-0631 TC-063302-15 Alternate 1 - TC-0633: (1/CONDUCTOR)(AWG NO. 6) ELECTRICAL CONDUCTOR										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TLS Group, Inc.	First Offer - \$2.40	500 / linear foot	\$1,200.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$3.00	500 / linear foot	\$1,500.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$4.00	500 / linear foot	\$2,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

TC-0631 TC-063302-16 Alternate 1 - TC-0633: (1/CONDUCTOR)(AWG NO. 10) ELECTRICAL CONDUCTOR										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TLS Group, Inc.	First Offer - \$1.90	550 / linear foot	\$1,045.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$2.00	550 / linear foot	\$1,100.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$3.00	550 / linear foot	\$1,650.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

TC-0631 TC-063302-17 Alternate 1 - TC-0633: THREE (3) SECTION TRAFFIC SIGNAL HEAD										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TLS Group, Inc.	First Offer - \$995.00	8 / each	\$7,960.00		Y					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$1,050.00	8 / each	\$8,400.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$1,475.00	8 / each	\$11,800.00		Υ					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								

TC-0631 TC-063302-18 Alternate 1 - TC-0633: FOUR (4) SECTION TRAFFIC SIGNAL HEAD									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$1,200.00	4 / each	\$4,800.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$1,375.00	4 / each	\$5,500.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Traffic Signals, Inc.	First Offer - \$1,885.00	4 / each	\$7,540.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

TC-0631 TC-063302-19 Alternate 1 - TC-0633: PEDESTRIAN SIGNAL HEAD									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$765.00	8 / each	\$6,120.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$850.00	8 / each	\$6,800.00	Υ
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
Traffic Signals, Inc.	First Offer - \$920.00	8 / each	\$7,360.00	Y
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		

TC-0631 TC-063302-20 Alternate 1 - TC-0633: PEDESTRIAN PUSH BUTTON AND SIGN									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$1,030.00	8 / each	\$8,240.00		Υ				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$1,200.00	8 / each	\$9,600.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Traffic Signals, Inc.	First Offer - \$1,485.00	8 / each	\$11,880.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

TC-0631 TC-063302-21 Alternate 1 - TC-0633: POLE & SPECIFIED 35ft MAST ARM(S)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TLS Group, Inc.	First Offer - \$19,250.00	1 / each	\$19,250.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$23,800.00	1 / each	\$23,800.00		Υ					
Product Code:		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$24,200.00	1 / each	\$24,200.00		Υ					
Product Code:		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								

TC-0631 TC-063302-22 Alternate 1 - TC-0633: POLE & SPECIFIED 45ft MAST ARM(S)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$28,000.00	1 / each	\$28,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$33,050.00	1 / each	\$33,050.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Traffic Signals, Inc.	First Offer - \$36,150.00	1 / each	\$36,150.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

TC-0631 TC-063302-23 Alternate 1 - TC-0633: POLE & SPECIFIED 40ft MAST ARM (S) & LUM. ARM (INSTALLED)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$21,250.00	1 / each	\$21,250.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Traffic Signals, Inc.	First Offer - \$27,050.00	1 / each	\$27,050.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$35,550.00	1 / each	\$35,550.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

TC-0631 TC-063302-24 Alternate 1 - TC-0633: POLE & SPECIFIED 55ft MAST ARM (S) & LUM. ARM (INSTALLED)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$34,000.00	1 / each	\$34,000.00		Y				
Product Code:	Supplier Product Co	de:							
Agency Notes:		Supplier Notes:							
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$39,175.00	1 / each	\$39,175.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Traffic Signals, Inc.	First Offer - \$42,765.00	1 / each	\$42,765.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

TC-0631 TC-063302-25 Alternate 1 - TC-0633: PEDISTAL POLE W/ 5-FT MOUNTING HEIGHT										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TLS Group, Inc.	First Offer - \$700.00	2 / each	\$1,400.00		Υ					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$920.00	2 / each	\$1,840.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$2,000.00	2 / each	\$4,000.00		Υ					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								

TC-0631 TC-063302-26 Alternate 1 - TC-0633: PEDESTAL POLE W/ 10-FT MOUNTING HEIGHT									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$965.00	6 / each	\$5,790.00		Y				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Traffic Signals, Inc.	First Offer - \$995.00	6 / each	\$5,970.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$2,500.00	6 / each	\$15,000.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

TC-0631 TC-063302-27 Alternate 1 - TC-0633: STRUCTURAL CONCRETE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Traffic Signals, Inc.	First Offer - \$1,111.00	27 / cubic yard	\$29,997.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$1,200.00	27 / cubic yard	\$32,400.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
TLS Group, Inc.	First Offer - \$1,300.00	27 / cubic yard	\$35,100.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

TC-0631 TC-063302-28 Alternate 1 - TC-0633: REINFORCING STEEL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$2.50	3719 / pound	\$9,297.50		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

·						
MIDSTATE TRAFFIC CONTROL, INC.		First Offer - \$3.00	3719 / pound	\$11,157.00	Y	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Traffic Signals, Inc.		First Offer - \$3.10	3719 / pound	\$11,528.90	Υ	
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			

TC-0631 TC-063302-29 Alternate 1 - TC-0633: PULL BOX TYPE II										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$1,500.00	4 / each	\$6,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
TLS Group, Inc.	First Offer - \$1,530.00	4 / each	\$6,120.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$2,475.00	4 / each	\$9,900.00		Y					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								

TC-0631 TC-063302-30 Alternate 1 - TC-0633: REMOVAL OF EXISTING SIGNS										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$150.00	4 / each	\$600.00		Y					
Product Code:	Supplier Product Co	de:								
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$350.00	4 / each	\$1,400.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
TLS Group, Inc.	First Offer - \$350.00	4 / each	\$1,400.00		Y					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								

TC-0631 TC-063302-31 Alternate 1 - TC-0633: MAST ARM MOUNTED SIGNS									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$68.50	96 / square foot	\$6,576.00		Υ				
Product Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Traffic Signals, Inc.	First Offer - \$86.00	96 / square foot	\$8,256.00		Y				
Product Code:		Supplier Product Code	•						
Agency Notes:		Supplier Notes:							
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$100.00	96 / square foot	\$9,600.00		Y				
Product Code:		Supplier Product Code	•						
Agency Notes:		Supplier Notes:							

TC-0631 TC-063302-32 Alternate 1 - TC-0633: TRAFFIC STRIPE (PLASTIC) (4inch WIDE)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TLS Group, Inc.	First Offer - \$1.20	5594 / linear foot	\$6,712.80		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$1.35	5594 / linear foot	\$7,551.90		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$2.30	5594 / linear foot	\$12,866.20		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								

TC-0631 TC-063302-33 Alternate 1 - TC-0633: TRAFFIC STRIPE (PLASTIC) (12inch WIDE)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TLS Group, Inc.	First Offer - \$4.80	264 / linear foot	\$1,267.20		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$5.50	264 / linear foot	\$1,452.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$6.85	264 / linear foot	\$1,808.40		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

TC-0631 TC-063302-34 Alternate 1 - TC-0633: TRAFFIC STRIPE (PLASTIC) (24inch WIDE)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
TLS Group, Inc.	First Offer - \$18.00	647 / linear foot	\$11,646.00		Y					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$20.00	647 / linear foot	\$12,940.00		Y					
Product Code:		Supplier Product Code	:							
Agency Notes:		Supplier Notes:								
Traffic Signals, Inc.	First Offer - \$25.00	647 / linear foot	\$16,175.00		Y					
Product Code:		Supplier Product Code	:							
Agency Notes:		Supplier Notes:								

TC-0631 TC-063302-35 Alternate 1 - TC-0633: TRAFFIC STRIPE (PLASTIC) (ARROW) (SINGLE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Traffic Signals, Inc.	First Offer - \$300.00	10 / each	\$3,000.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
TLS Group, Inc.	First Offer - \$301.00	10 / each	\$3,010.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$340.00	10 / each	\$3,400.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

TC-0631 TC-063302-36 Alternate 1 - TC-0633: REMOVE TRAFFIC STRIPE (4inch WIDE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$1.20	6013 / linear foot	\$7,215.60		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$1.35	6013 / linear foot	\$8,117.55		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Traffic Signals, Inc.	First Offer - \$1.40	6013 / linear foot	\$8,418.20		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

TC-0631 TC-063302-37 Alternate 1 - TC-0633: RADAR VEHICLE DETECTION FOR 4-WAY INTERSECTION							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Traffic Signals, Inc.	First Offer - \$68,000.00	1 / each	\$68,000.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

MIDSTATE TRAFFIC CONTROL, INC.	First Offe	er - \$82,200.00 1 / each	\$82,200.00	Y
Product Code:		Supplier Pr	oduct Code:	
Agency Notes:		Supplier N	otes:	
TLS Group, Inc.	First Offe	er - \$91,000.00 1 / each	\$91,000.00	Υ
Product Code:		Supplier Pr	oduct Code:	
Agency Notes:		Supplier N	otes:	

TC-0631 TC-063302-38 Alternate 1 - TC-0633: CONTRUCTION STAKING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$2,840.00	1 / lump sum	\$2,840.00		Y				
Product Code:		Supplier Product Cod	de:						
Agency Notes:		Supplier Notes:							
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$4,100.00	1 / lump sum	\$4,100.00		Y				
Product Code:		Supplier Product Cod	de:						
Agency Notes:		Supplier Notes:							
Traffic Signals, Inc.	First Offer - \$7,550.00	1 / lump sum	\$7,550.00		Y				
Product Code:		Supplier Product Cod	de:						
Agency Notes:		Supplier Notes:							

TC-0631 TC-063302-39 Alternate 1 - TC-0633: CONSTRUCTION TRAFFIC CONTROL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Traffic Signals, Inc.	First Offer - \$12,500.00	1 / lump sum	\$12,500.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$12,825.00	1 / lump sum	\$12,825.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
TLS Group, Inc.	First Offer - \$14,260.00	1 / lump sum	\$14,260.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

TC-0631 TC-063302-40 Alternate 1 - TC-0633: MOBILIZATION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$8,000.00	1 / lump sum	\$8,000.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Traffic Signals, Inc.	First Offer - \$18,650.00	1 / lump sum	\$18,650.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
TLS Group, Inc.	First Offer - \$29,000.00	1 / lump sum	\$29,000.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

TC-0631 TC-063302-41 Alternate 1 - TC-0633: CLEARING AND GRUBBING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$2,600.00	1 / lump sum	\$2,600.00		Υ			
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:					
TLS Group, Inc.	First Offer - \$3,310.00	1 / lump sum	\$3,310.00		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Traffic Signals, Inc.	First Offer - \$4,500.00	1 / lump sum	\$4,500.00		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						

TC-0631 TC-063302-42 Alternate 1 - TC-0633: REMOVE CURB AND GUTTER									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$26.00	155 / linear foot	\$4,030.00		Y				
Product Code:		Supplier Product Code:	•						
Agency Notes:		Supplier Notes:							
Traffic Signals, Inc.	First Offer - \$28.00	155 / linear foot	\$4,340.00		Y				
Product Code:		Supplier Product Code:	.						
Agency Notes:		Supplier Notes:							
TLS Group, Inc.	First Offer - \$30.00	155 / linear foot	\$4,650.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

TC-0631 TC-063302-43 Alternate 1 - TC-0633: SAWCUT PAVEMENT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Traffic Signals, Inc.	First Offer - \$12.00	178 / linear foot	\$2,136.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
TLS Group, Inc.	First Offer - \$12.00	178 / linear foot	\$2,136.00		Y			
Product Code:		Supplier Product Code:	.					
Agency Notes:		Supplier Notes:						
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$13.00	178 / linear foot	\$2,314.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0631 TC-063302-44 Alternate 1 - TC-0633: REMOVAL OF SIDEWALK									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$20.50	127 / square yard	\$2,603.50		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$26.00	127 / square yard	\$3,302.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Traffic Signals, Inc.	First Offer - \$28.00	127 / square yard	\$3,556.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

TC-0631 TC-063302-45 Alternate 1 - TC-0633: SIDEWALK								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$80.50	98 / square yard	\$7,889.00		Y			
Product Code:		Supplier Product Code:	•					
Agency Notes:		Supplier Notes:						
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$130.00	98 / square yard	\$12,740.00		Y			
Product Code:		Supplier Product Code:	.					
Agency Notes:		Supplier Notes:						
Traffic Signals, Inc.	First Offer - \$140.00	98 / square yard	\$13,720.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

TC-0631 TC-063302-46 Alternate 1 - TC-0633: ADA CURB RAMP (8inch)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
TLS Group, Inc.	First Offer - \$1,570.00	8 / each	\$12,560.00		Υ	
Product Code: Supplier Product Code:						
Agency Notes:		Supplier Notes:				

Traffic Signals, Inc.		First Offer - \$2,800.00	8 / each	\$22,400.00		Υ
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
MIDSTATE TRAFFIC CONTROL, INC.		First Offer - \$3,000.00	8 / each	\$24,000.00		Υ
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			

TC-0631 TC-063302-47 Alternate 1 - TC-0633: TACTILE MARKERS/TRUNCATED DOMES							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$54.00	85 / square yard	\$4,590.00		Υ		
Product Code:	Product Code: Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Traffic Signals, Inc.	First Offer - \$55.00	85 / square yard	\$4,675.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$65.00	85 / square yard	\$5,525.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0631 TC-063302-48 Alternate 1 - TC-0633: SOLID SLAB SODDING							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Traffic Signals, Inc.	First Offer - \$12.00	416 / square yard	\$4,992.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$13.00	416 / square yard	\$5,408.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
TLS Group, Inc.	First Offer - \$14.00	416 / square yard	\$5,824.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TC-0631 TC-063302-49 Alternate 1 - TC-0633: SILT SOCK							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Traffic Signals, Inc.	First Offer - \$175.00	2 / each	\$350.00		Υ		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$195.00	2 / each	\$390.00		Υ		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
TLS Group, Inc.	First Offer - \$361.00	2 / each	\$722.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

TC-0631 TC-063302-50 Alternate 1 - TC-0633: FILTER FABRIC SILT FENCE-COMPLETE IN PLACE						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Traffic Signals, Inc.	First Offer - \$6.00	50 / linear foot	\$300.00	Υ	Y	
Product Code:	Product Code: Supplier Product Code:					
Agency Notes:		Supplier Notes:				
MIDSTATE TRAFFIC CONTROL, INC.	First Offer - \$10.00	50 / linear foot	\$500.00		Y	
Product Code: Supplier Product Code:						
Agency Notes:		Supplier Notes:				
TLS Group, Inc.	First Offer - \$12.00	50 / linear foot	\$600.00		Y	
Product Code: Supplier Product Code:						
Agency Notes:		Supplier Notes:				

Supplier Totals

f TLS Group, I	nc.	\$1,083,750.20 (103/103 items)	
Bid Contact	David Willis dwillis@tlsokc.com Ph 405-524-1341	Address 13305 N Santa Fe Ave. Oklahoma City, OK 73114	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:			Head Attch:
f MIDSTATE T	RAFFIC CONTROL, INC.	\$1,168,795.70 (103/103 items)	
Bid Contact	Aaron Wells aaron@midstatetraffic.com Ph 405-751-6227 Fax 405-751-8338	Address 12501 N SANTA FE OKLAHOMA CITY, OK 73114	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	(Status: This bid bond could not be verified)		
Agency Notes		Supplier Notes:	Head Attch:
f Traffic Signa	als, Inc.	\$1,186,816.40 (103/103 items)	
Bid Contact	Robert Meadors tsirbm@aol.com Ph 405-341-3101	Address PO BOX 30067 Edmond, OK 73003	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	(Status: This bid bond could not be verified)		
Bid Notes	BID BOND #SOK1015920075 SURETY 2000		
Agency Notes		Supplier Notes: BID BOND #SOK1015920075 SURETY 2000	Head Attch:

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.